Pro 1500 Stand Assembly - stco21035

A2

P

23 7/8" P

/ % -
alh N 2134 '. il
b F .:@
FRo ' .

, =0
|°We:\I T has '
acr, brac no !
56” (35 Gal.) Oss, 7€ '
or '
68" (55 Gal.)
S
<ﬂ "o
%ﬁ N
! i T8
o, 35 Gal. Stand
\/&% 56" Uprights - SXX000056 (4)

21 3/4” Braces - SXX000021 (4)
23 7/8” Braces - SXX000023 (3)
Feet - STX002001 (4)

55 Gal. Stand

68" Uprights - SXX000068 (4)

Bolt
Stand

Stand - Hardware Kit -
AHX021023

(32) AFB155180 -
2" x 5/16” Bolts
(28) AFB155190 -
1" x 5/16” Bolts
(60) AFT155175 -
5/16” Wiz Nuts
(120) AFW180000 -
5/16" Flat Washers




